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OXOACHDS
When 50, is passed through acidified solution
of H 5
1. H 50} s formed 2. 50, 5 lormed
L} ‘nu!phurhrﬂ'mplmcd 4. H.50, |:~I-|'|m|-n.1
Commercial numulpn'uunmuh:lum:ndu
| Marshall's acid 2. Oleum
3. Fuming sulphurc acid 4.Caro’s acid
Pyrosulphuric acid may be synthesised by
dissolving 501, in

WH.O DH.S0, 3)H.S0, 4)HS.0,

Which of the following has no 5-5 bond.
IHS0, 2HS0, 3HSO0 4HSO,

OZONI
(2 does not give oeonide with

1. 2-Butene 2. Benzene

3, 2-Pentyne 4. Neopentane

In which of the lollowing ozone acts as
reducing agent”?

1. Bal), + 0, — Bal) + J{]'_,
2Z2IHCI+0, = CL+HO+0

3. PbS + 40, — PbSO, + 40,

4. 2K1+ 0, +HO = 2KOH+1,+ 0,
(hrone is a

1. Mild oxidizing agen

2. Powerful oxidizing agenl

3. Powerful reducing agent

4, Mikd reducing agent

Ozonisation of water is carried o remove
|. Bacterd impuarties

2. Rad taste

3. Excess of chlorine present

4. Calewm and magnesnem salts present mil

List - | List - I
MO +HO o 1)Bhe
B0, +starch Kl = 2)Tailing
C)0, + Hg —» HHIO,
MO +L+HO = 40,+HO
S1HI

The correct maich is

A B C D A B C D
n s 2 3 2 804 1 2 3
H 1 4 3 2 & 3 2 1 35

Which one of the gas dissolves in /.50, 1o
give olenm?

1) 50, 2) H.S S0 4) 50,
Which charactenistic is nol correct about
H.50, *

|. Reducing agent 2, Onidising agent

3. Sulphonating agent 4. Highly viscous
sulphur trioxide is dissolved in heavy water

i form a compound X. The hybridisation
state of sulphur in X is

. gp* 2 gp 3 5P A 5P

What happens when /.50, added to CafF.

|} Gives Cadil,

NGves | & 2
LEVEL-11 A KEY

154 16)3 17)4 18)4 19)1

2) Ciives JF
4) Gives CallF,

2002 21)1 22)2 23)4 24)1 25)2
26) 3

LEVEL-1IB
GENERAL PROPERTIES
Electron aflinity order of chalcogens is
1} §>8e>Te>0 D O>5>8>Te>Po
NE=0>8Tex>Po A 0>Po=Te>5%>8
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The chalcogen having same number of
electrons both in penultimate and
antipenultimate shells is

1} 0) S i) 5¢ 4)Te

OXIDATION STATES

Orxveen exhibits least oxidation state in
1yOF, 2) KO, 3HIH,0 4 H0,

I a compound of sulphur, the sulphur atom is
in second excited state, The possible

hybridisation of sulphur is
|} sp’ 1) sp'
2} sp'd 4) sprior) sp'(or) sp'd

ALLOTROPIC
Magnetic nature of 5, is similar to that of

FORMS

1) §, 2) 5. 3) 0,

HY DRIDES

Among the following, the weakest conjugate
base i

4y 0,

ow 2 sH 3 sett A Telt
OXIDES

BeCh, ALQL Snl),  5iC0)., Sh.C), , PN) are_ oxides

|} Amphoteric oxides 2) Basi

3 Acidic 4) Meutral

Which oxides are neutral

INNO ) N,O 0O 4i1All

Number of 5~0-5 bridges, no.of o and =
bonds in cyclic trimer of 5,

L) 3. 12er G 2) 3,18a,6x

1) 212o.4x 4) 4,127, 3x

In 50, twe oxygen atoms are linked to the
sulphur atom through double bonds. The two x
bomds are

|V both p, -p, 2)both p, -d

Jjbothd, -d, 4)one d -p, asdone p, —p,
The number of S - 5 bonds in sulphur trioxide

trimer (5,00} is
[} Three 2) Two 1) Ome 4) Lero
42301, = X—2 YHHO

Y = Z+H, 0, Onidation state of 5 in "L 18
[y+1 2+ 4 i)+ b 4)+2

In OF, molecule, the total number of bond
pairs and lone pairs of electrons present
respectively are

)26 21)28 HLI0 L9

15
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Special

DIONYGEN

. Industrially (), is obtained by
|} Fractional distillation of air
2) KCI0, ——

4} Electrolvsis of water

3) Ag.0——

What volume of (2, is soluble in 0" of
waler al 293 K,

113.08cc 2) 308cm 3) 1.02¢m 4) 4 2¢mr

Which metals directly do not react with ¢,

|} Au 2 3 Both 1&2 4)He Ne
HALIDES

. 5F, is exceptionally stable due to

1}5- F Bond is strong 1) Steric reasons
3)Un Symmetrical peometry

4) Exothermic compound

Number of planar atoms in 5F, is
1}7 )6 3) 35 414

OLONE

. Regarding ozone the wrong statement is

|} The bond angle is 116"49

2)0, acts as both oxidant and reductant
3) O0-0) bond lengths are equal

4} It is paramagnetic

. When O is passed throngh an agueous

silution of K1, the pH of the resulting solution
in

1} 7 216.8 1) 2.8 43 10-14
Which is a mutual reduction reaction 7
A) KM} +0) B) H,0+0

C)Ag0+0, D) KI+HO+0,
1JAB  21AC HWAD  4BC

Which one of the following reactions does nol
accur 7

|} Bal) + O, -Ba0_+ 0,
2) PHS + 40, -5 PHSO, + 40,
JTH,0, + 0, HO0 + 20,
4} 1Hg + 0, +He 0+ 0,

OXOACIDS

23. Which of the following has pr - d bonding

D NOT 2150  WBO,  HCO
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Single bond between sulphur atoms is pressent
m

DHS0 HS.0,  3HH50  4)H50,

Number of h\dnrnl groups present in
pyrosulphuric acid is
1)3 24 3)2 4) 1
LIST-1 LIST-2 (OS5 of °S')
A)H SO, 1) +4
B) H(5) O 2)+3
C) H50, H+2,-1
M HS5.0, d)+6
5)+5,0

The correct match is

A B C D A B C D
N2 5% 2 4 I 3 4 1 4
N4 5 1 2 4 2 3 1 5

SULPHURIC ACHD

N and ¥ are anhvdrides of sulphurous and
sulphuric acid respectively. The hvbndisation
state and the shape ol X and Y are

X Y
. sp°, angular spr, tetrahedral
1. s, angular s, anggular
3. sp’, angular sp planar triangukar
4. sp’, planar sp', phanar
An oxyacid of sulphur contained 5 = 5 linkage
and the oxidation number of Sin it is +6 and
=2, It belongs to
1) -0us serses 2) =i Series
3 ) peroxo series 4) thionic acid senes

Which of the following statements regarding
the manufacture of H 50, by Contact process
is mol true ?

I Sulphur is burnt in air (o form S0,

2) 50, 15 catalytically oxidssed 1o 50,

31 S0 15 dissolved in water to get 100%
sulphuric acid

4) H.50, obtained by Contact process is of
hl;_:h"q' purity than that obtaned by lead chamber
ProCess,

A student accidently splashes few drops of
conc, H. 50, on his cotion shirl. After a while,
the s[lll!ihﬁl paris blacken and the holes
appear. This has happened because sulphuric
acid

|} Dhelnvdrates the cotton with burming

2} Cases the cotton to react with ar

3} Heats up the colton

4) Kemoves the clements of waler from cotton

LEVEL-11 B - KE%
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Marble 1s what type of rock?

GENERAL AWARENESS

1.

10.

11.

Which temple complex is in the shape

of a gigantic chariot, having

elaborately carved stone wheels, pillars

and walls?

1) Meenakshi Temple

2) Mahabodhi Temple

3) Brihadishwara Temple

4) Konark Sun Temple

Who among the following was a

classical Indian flute player?

1) Shiv Kumar Sharma

2) Zakir Hussain

3) Hari Prasad Chaurasia

4) Bismillah Khan

Who among the following was a person

of Indian origin and he was also a

recipient of the Nobel Prize for

Medicine?

1) Har Gobind Khorana

2) Homi J.Bhabha

3) A.P.J. Abdul Kalam

4) Jagadish Chandra Bose

Which of the following is an active

enzyme?

1) trypsin

2) Trypsinogen

3) chymotrypsinogen

4) Procarboxy peptidases

Which of the following is true?

1) Red Blood Cells are devoid of nucleus
and are are biconvex in shape

2) Red Blood Cells are nucleated and are
biconcave in shape

3) Red Blood Cells are nucleated and are
biconvex in shape

4) Red Blood Cells are devoid of nucleus
and are biconcave in shape

Which of the following is micronutrient

for a plant?

1) hydrogern 2) oxygen

3) iron 4) carbon

All of the following are characteristics

of ‘Facilitated Transport’ in Plants,

except one. Identify that from the given

options.

1) Requires special membrane proteins

2) Highly selective

3) Requires ATP energy

4) Transport saturates

Consider the following pairs :

Name Formula
a) 2-Chlorobutane
- CH;CH,CH(CI)CHj;
b) Pentan-2-one
- (CH;),CHCOCH(CH3),
c) Prop-2-enal - CH,CHCHO

d) 2,4-Dimethyl pentan 3-one;

- CH;COCH,CH,CHj
Which of the above pairs are correctly
matched?
1) 1 and 3 only 2) 1 and 4 only
3) 3 and 4 only 4) 2 and 3 only
The relative lowering of vapour

pressure and is equal to the ....... of the
solute
1) Molarity 2) Molality

3) Mole fraction 4) Volatility
Bakelite is what type of polymer?

1) Thermosetting polymer

2) Thermoplastic polymer

3) Fibre

4) Elastomer

Which of the following group 14
elements has the highest
electronegativity?

1) Silicon

3) Germanium

2) Carbon
4) Tin
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The code that goes into the ....... tag
pair is not displayed by the browser.
1) <text> 2) <body>
3) <head> 4) <name>
Which of the following is included in
character formatting in word

processor?

1) Line spacing 2) Emboss

3) Alignment 4) Indent
Which festival is celebrated on the first
day of Uttarayana?

1) Vat Purnima 2) Guru Purnima
3) Onam 4) Pongal
Chief Minister of which State died on
Sth December 2016?

1) TamilNadu 2) Andhra Pradesh
3) Karnataka 4) Kerala

The existence of isotopes was first
suggested in 1913 by the radiochemist
1) Frederick Soddy

2) Ernest Rutherford

3) Carl D. Anderson

4) Joseph Priestely

Which of the following is true?

1) Imposition of price ceiling above the
equilibrium price leads to an excess
demand

2) Imposition of price ceiling below the
equilibrium price leads to an excess
supply

3) Imposition of price ceiling below the
equilibrium price leads to an excess
demand

4) Imposition of price ceiling above the
equilibrium price leads to an excess
demand

Which of the following is true?

1) Average fixed cost curve is upward
sloping

2) Average fixed cost curve 1s "U" shaped

3) Average fixed cost curve is 'n' shaped

4) Average fixed cost curve is downward
sloping.

If demand curve for almonds is

D =73000 — 30 P and supply curve is

S = 18000 + 25 P, find the equilibrium

Quantity?

1) 7,000 units

3) 43,000 units

Gross fiscal deficit

1) Total expenditure + (Revenue receipts
— Non-debt creating capital receipts)

2) Total expenditure - (Revenue receipts —
Non-debt creating capital receipts)

3) Total expenditure — (Revenue receipts -

Non-debt creating capital receipts)
4) Total expenditure + (Revenue receipts
+ Non-debt creating capital receipts)

Personal Disposable Income =

1) Personal Income — Personal tax
payments Non-tax payments.

2) Gross Domestic Product + Net factor
Income from aboroad

3) Net National Product at Market prices
— (Indirect taxes - subsidies)

4) Net National Product at market prices
Net Indirect taxes.

Which of the following is not a green

house gas?

1) Methane

3) Nitrous oxide

2) 23,000 units
4) 17,000 units

2) Chlorofluorocarbons
4) Argon
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Ozone gas is continuously formed by
the action of which type of waves on
molecular oxygen?

1) Infrared radiation  2) Gamma rays

3) Radio waves 4) Ultraviolet rays

Which of the following statements

regarding Atmospheric Circulation and

Weather Systems is false?

1) The Corilis force deflects the wind to
the left direction in the southern
hemisphere

2) The pressure gradient force is
perpendicualr to an isobar

3) The pressure gradient is weak where
the isobars are close to each other and
1s strong where the isobars are apart

4) The wind circulation around a high is
called anti cyclonic circulation.

The atmosphere only contains what

percentage of total global carbon?

1) 1 per cent 2) 0.1 per cent

3) 10 per cent 4) 20 per cent

‘ITC Limited’ is headquartered in ..... ?

1) Kolkata 2) Mumbai

3) New Delhi 4) Bengaluru

With reference to the interior of the

earth consider the following statements :

1. P-waves vibrate perpendicular to the
direction of the wave.

2. The mean thickness of oceanic crust is

5 km.

3. S-waves can travel through solids,
liquids and gaseous materials.

Which of the statements given above

is/are correct?

1) 1 and 3 only 2) 2 only

3) 2 and 3 only 4) 1,2 and 3

.... IS a situation, when there is a

prolonged period of inadequates

rainfall marked with mal-distribution
of the same over time and space.

1) Agricultural Drought

2) Hydrological Drought

3) Meteorological Drought

4) Ecological Drought

Marble is what type of rock?

1) Metamorphic 2) Igneous
3) Sedimentary 4) Halite

Half of the earth's crust is composed of

which mineral?

1) Quartz 2) Mica

3) Amphibole 4) Feldspar

Which of the following crops is suitable

for dryland farming ?

1) rice 2) ragi

3) Jute 4) Sugarcane

With reference to India's freedom

struggle consider the following

statements :

1. The socialist activist Kamala Devi
Chattopadhyay had persuaded Gandhiji
not to restrict the protests to men alone.

2. The first meeting of the "Round Table
Conferences" was held in November
1930 in mumbeai.

3. Viceroy Lord Willingdon was
sympathetic to Mahatma Gandhi.

Which of the statements given above

is/are correct?

1) 1 and 3 only 2) 2 and 3 only

3) 1 only 4) 1,2 and 3

The ....... commercial companies set up

their base in India during the Mughal

Empire at Masulipatnam in 1605.

1) British 2) French

3) Portuguese 4) Dutch

In 1853, a railway line was laid

connecting Bombay with which city?

1) Thane 2) Pune

3) Nashik 4) Surat
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The traveller Marco Polo, who visited
India in the Thirteenth century, was
from which country?

1) Uzbekistan 2) Italy
3) Portugal 4) France
36. Who conquered Sind in CE 712?
1) French 2) Mangols
3) Greeks 4) Arabs
37. Electromagnet was invented by which

38.

39.

40.

41.

42.

scientist?

1) William Sturgeon
2) Enrico Fermi

3) J.J. Thomson

4) Ernest Rutherford
Consider the following pairs :

Object : Mass (Kg)

1) Uranium atom : 101°

2) Mosquito : 5 x 107

3) Boeing 747 aircraft : 10°

4) Milky Way Galaxy : 10"

Which of the above pairs are correctly
matched?

1) 1 and 3 only 2) 3 and 4 only
3) 2 and 3 only 4) 2,3 and 4 only
Which scientist proposed the Wave
theory of light?

1) Niels Bohr

2) Christiaan Huygens

3) J.J. Thomson

4) Michael Faraday

Which of the following electromagnetic
waves can be detected using point
contact diodes?

1) Ultraviolet rays 2) Microwaves
3) Infrared waves 4) Radio waves
The energy U, stored in a capacitor of
capacitance C, with charge Q and
voltage V can be expressed as all the
following, except?

1) (1/2) QV 2) (1/2)CV?

3) (1/2) (Q*)/C 4) (172) [(V*)/Q]
The First Past the Post system of
election within the Indian Constitution
are borrowed from the
1) Irish

3) United States

2) Canadian
4) British

ANSWERS

1-4 2-3 3-1 4-1 S-4
6-3 7-3 8-1 9-3 10-1
11-2 12-3 13-2  14-4 15-1
16-1 17-3 18-4 19-3 20-2
21-1 22-4 23-4 243 25-1
26-1 27-2 28-3  29-1 30-4
31-2 32-1 33-4 34-1 35-2
36-2 37-1 38-3 39-2 40-2
41-4 42-4



